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PART -1

Child Development
and Pedagogy

1. Which is not the characteristic of a good 1

adjustment?

A. In good adjustment person knows
his abilities and limits

B. In this, the level of aspiration is very
high
C. Inthis, there is no conflict in the

mental thoughts of a person

D. Ingood adjustment a person has
their own control over his wishes
and behaviour

2. The principle of individual differences 2.

denotes that-

Choose the most appropriate option with
respect to the above

A. Every individual has differences in
the context of development

B. Every individual has differences in
the context of growth

C. Every individual has similarities in
the context of growth and
development

D. Every individual has differences in
the context of growth and
development

a1 TereRTa wat forerT v

frefaRad & @ o o s garSE At
fergroar 7 22

A. 3T ARSI H oFfh ol 3T
JrIATAT ST EHTAT hT1 I ST 2

B. SOH, JTHIET sl &L Ifd S<= BIaT 2l
C. o =tk o UM faail & 18
T R T

D. 3T=3 GUEISH § Sfth T 39 TR
3T ToTeA 9 =0T Brar Rl

T farfre=aT o1 fereaTe sram & foh-

S9TH o TR H Hell 2ok SUITh forehed i

TS -

A. S A | forermd & w=avl § g
Bt &l

B. Y% Afth H gt o dway § far=and
et 2

C. e i i qfs s Frme 35wt
T {HTATS Bit 21

D. s =t i gt siv e st
4 farfsr=amd gt 21
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Which of the following statements is
most appropriate regarding inclusive
education?

A. Provides education in multigrade
setting

B. Gives preference to teachers from
rural areas

C. Provides educational opportunities
to economically backward section

D. Addresses diversity in class

A teacher divides her students into
groups and conducts activities like
group discussion, group project, group
work. This process of teaching learning
refers to-

A. Joyful learning

B. Inclusive Education

C. Competition based learning
D

. Learning from social activities

Which are the major socialization
agencies?

1) Community

I1) Some social groups

[11) Formal educational institution
IV) Family

A. Only I

B. L&l

C. LI, Hland IV
D. I1&ll

Tt e o defy & frefafaq § @&
T o T 3T 87

A. SgeheT ST H el Suered A 2

B. ITHIOT &7 o f3reTent ohl STerfiendr adt
2

C. T &9 & fuse ot ol Siferes STae
YAy T 2

D. eIT | ferfarerdT st Garferd st 2|
wah rféent sTo forenffert <t et  srfed
2 3 wyE ==, g s, 9E e

St ittt denferd s 81 diaa
e <t 7rg gfskan fore 3T Sfirg et 22

A, SATETE HEAT

B. @i fRrem

C. ufcenfirar smenfia frer

D. st iafafer & e

frafaRaa @ @ =it garsiisor @ i
o SARTT (ASede) 82

) WE™

1) % WHTISh €8

111) 3T=rTies Seffores deemd

IV) 9fiEr

A FaAIl

B. L3RI

C. LI, IRV

D. 13RI
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According to Right to Education Act
2009 admission of children to a
particular class has been proposed to be
on the basis of-

A. Socio-economic status of child

Age of child

w

C. Education of the parent
D. The ability of the child

‘Law of effect’ is the outcome of
following learning theory.

A. Stimulus response theory
B. Insight theory of learning
C. Social constructivist theory
D

. Classical conditioning theory of
learning

According to Lev Vygotsky, the zone of
proximal development should be used
for-

A. In Health and Gender
B. In Teaching and Assessment
C. InTeaching only

D. In Assessment only
Which section of the RTE Act 2009

(Right to Education Act 2009) deals
with the duties of the teacher?

A. Section - 4

B. Section - 21
C. Section-24
D. Section - 08

FRT&TT 3T TR ARITHEH 2009 % AR
Tk fIIRIS SheqT | sST=il ohT ATHih fohdeh
ST 9T SeTierd fomam mram 22

A. =3 & FmTieres sTifefes feufa
B. =l Y

C. orar-fiar S farem

D. s i &war

srTferaT ot o feforfiea o @ forer
dig o frear= w1 wfwat 22

A. EUT AR e

B. STTeRTH sh1 H T freard

C. | TeATael fear=

D. AT ot e s feara

T AT o STTER e 1 & forereh forg
T forshTe o &5 T STANT KT ATRT?

A. T IR SIS H

B. fareror i yewrieh |

C. %ad freqor

D. ad TR §

faTeqT =1 SAfrRR TfIfA=m 2009 i €
T f3TeTeh o el | TS 22

A. gRT—4

B. 9’21
C. amI—24
D. 9RI—-08
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10.  Out of the following which alternative

11.

12.

shows characteristics of the
preoperational stage given by Jean
Piaget?

A. Thoughts are egocentric

B. Ability to think logically about
objects and events

C. Ability to think abstractly and
problem solving

D. Abstract and scientific thinking

Which of the following statement is
incorrect about the process of
development in an individual?

A. Process of development is
multidimensional.

B. There is cultural diversity in the
process of development.

C. Individual mind set, social
interaction play an important role in
individual development.

D. Individual development is based on
only environmental factors.

Which of the following is not a process
of learning for children?

A. Argument
B. Reflection
C. Imagination
D

. Maturity

10.  freforfiaa ® & i €1 foered S ot

11.

12.

SR & Yd HishaTcHeh STaee shi forsr
1 ST 82

A. Teq hfgd forem
B. Sl SN ST o o1 H dlfeheh &0
& e T &

C. 3T &9 § Hie N THET 3l 8 HA
EARSE]

D. 3 I ST feia

frefefaa 5 9 i 91 e safw & o
Y wfsram o I ot 7 27

A. T it wfsran sgatram St 2]

B. forehme <l Sfsham # |ieanfcen forforerar
gl 2

C. FfhTd HHTeRaT, AT TFaeh hi
el ferehrer o TEwarqul S{fiveT et 21

D. sufriTd forema sharet STdTerofiar shiteht
T AT B 2

frefafad o & & @ ==t & fo daa
i wfsrar et €2

A. Th

B. wffersm

C. &

D. gitgeear
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13.

14.

15.

16.

Which of the following is not a 13.

characteristic of Gifted child?

A. They are interested in reading and
writing

B. They have the quality of creativity

C. They don’t do original thinking

D. They do their homework quickly

According to constructivist approach 14.

which of the following is crucial for
constructing knowledge?

A. Conditioning

B. Insight

C. Prior knowledge of the learner
D. Rote memorization

From which of the following questions 15.

creative thinking can be best predicted?
A. Who can answer it?

B. Tell the right answer

C. Canyou tell its answer?

D

. What can be different ways to solve
it?

According to Jean Piaget at which stage 16.

of development children begin to think
scientifically?

A. Sensorimotor stage

B. Preoperational stage

C. Concrete operational stage
D

. Formal operational stage (Abstract
operational stage)

ZIH i 91 AfTHTeITed] s<) oht A&T0T Tt
27

A. 3 ve-forea g w a2

B. S TSHTCHSRAT T 0T &I 2
C. I viferen farmae el e 2

D. I 37T ek ST & S oid 2l

TITEITEY STEehIVT o STTER $HH | S &1
1 formitor 3 forg Aot 22

A, STTFEH

B. &¥

C. el =1 = 31

D. WeR{IE @Al

freforRaa o & ford w21 o g1 geiTee
[T o1 HaTiTereh 375 @ o STHTG fohaT
ST Tkl 27

A. U I SdT Gohdl 27

B. Hal I od

C. T 319 SHHT I o1 Fohd! &7
D

. 30 fora SToT-37erT aiient © & fomm
STT EehdT 27

ST foRITSt o STEm forehre 1 forer tareen
T Sl ST forme AT 3% o 4d &7

A. EIE Uefi Srareer

B. o HfshaTcHe e

C. ¥ Hfshatensh fereern

D. io=iter HishaTcsh 3Tare (31
HfshaTcHe STarEe)
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17. By using the brainstorming method, the 17, foam-ger fafer &y & frefes s o
teacher develops which of the following frefefad & o frgent foerme ST 22

in the children?

: A. TRz
A. Intelligence ®
B. Perception B. iy
C. Creativity C. T
D. Memory D. @ﬁ
18. Rita uses both, assessment for learning 18. & Ut et § g & foTu SA1ehetT 31
and assessment of learning in her class. HIG 7 3T 1T 3T TN S 2
A. To know the progress and 5 o N
achievement level of the children A. N AT T S AT T
B. To know the achievement level of fera
the child B. =d o SUATSY &L ST o fo1q)
C. To know the progress of the child C. = & wf ST 3 R
D. To assess the performance of the .
children after a specified period of D. e fHfard srrfer o e sresii = e
time T TR L o foTy]
19. Giving meaning to sensation on the 19. g ST o HTYR W HAGHT 1 e T&H
basis of past experience is called- FET FHEATAT 2=
A. Sensation A. HaeT
B. Imagination B. &heudt
C. Motivation C. som
D. Perception D. Sera
20. Teaching should be mainly done by ----- 20.  f37eA0T A& ¥ ¥ ---- o G foRall ST
A. Skilled and trained teacher ;l
A. %I T fferd freres
B. Untrained teacher
B. smfierd freren
C. Experienced teacher C. & e
D. Young talented individual D. Ia7 gferaremed s=fe
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21.

22.

23.

24.

How much percent (%) of a child’s 21.

brain development occurs prior to the
age of 6 according to NEP 2020?

A. Over 85%
B. Over 75%
C. Over 95%
D. Over 65%

“By education I mean an all round 22.

drawing out of the best in child and
man-body, mind and spirit”. Who has
given this definition of education?

A. Swami Dayanand Saraswati

B. Swami Vivekanand

C. T.P. Nun

D. Mahatma Gandhi

Classical conditioning theory 23.
propounded by Ivan Pavlov explains

learning by-

A. Reinforcement  B. Association

C. Imitation D. Insight

NCF 2005 also gives importance to 24.

which curricular areas apart from
various subjects?

i) Art Education

i) Health and Physical Education
iii) Work and Education

iv) Education for Peace

A. Only (i) and (iv)

B. Only (i) and (iii)

C. Only (ii) (iii) and (iv)
D. All (i) (ii) (iii) (iv)

fRret ifer 2020 % ST == & ARk o
ferer Srfererel s ferehrer 6 a1 <l TR = ol
&Y STt 82

A. 85% ¥ 3Tfrh
B. 75% ¥ 3ferh
C. 95% ¥ 31ferh
D. 65% 4 3ifersh

“FRTeT & T AT STl S T o IR
T 3R SATeHT o wate o & 2 e
o 78 feTeT foprerehl o7 22

A. @l SIS et
B. @l foemrra

C. dLdt ==

D. HeTcHT et

S dideTe g fedTiad e ey
forearea, Stftmmm ot fe o gy Tom e R-

A. TS B. dre=d
C. 3R D. 3fagE

NCF 2005 fafsr= fars=i o starman it fo
qTga=rAt &t st o HE JaT 82

i) oo farem

ii) TaTeey Ry fEre

iii) s S f3rem

iv) Fifer o forw farear

A. Fad (i) 3 (iv)

B. ad (i) 3R (iii)

C. ad (i) (iii) 3 (iv)

D. @ft (i) (ii) (iii) (iv)
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25.

26.

27.

According to social constructivist theory
of Lev Vygotsky, which method should
be used to assess the student?

A. Oral assessment

B. Summative assessment

C. Collaborative project

D. Standardised test

National Education Policy, 2020
proposed establishment of Preparatory
Class or Balvatika. What is the age limit

of a child for Preparatory Class or
Balvatika?

A. Prior to age of 4
B. Priorto age of 5
C. Priorto age of 6

D. Priorto age of 3

According to Lawrence Kohlberg a
stage of moral development during
which people behave according to social

norms is called?

A. Preconventional level of morality
B. Conventional level of morality

C. Post conventional level of morality

D. Unconventional level of morality

25.

26.

27.

A AR o AT TEHTaTe! feregT=d
o AR forenfela 1 smeher forw fafer &
HAT AT

. HiRaeh Seher

. INTTeHe STt

. TEANTeHe TRESiTd

. TR HRIeu

o O W >

Tt fRreqr <fife, 2020 # T ST AT
SITCTATTEehT 3hT TTHHT AT 8. TR heft
AT AT o FIq =<l =ht 317 Efier <
&

4 9 T 311 | TR

5 % i 3T T e

6 T T 3T T T
3 9 i 7Y T e

o o W >

AN FHIEATT o AR A forehTe o1 a8
HeeT TSEH THT | eS|
ITHR S8R Fd &, T FET 7T 2-

A. AT T ge TERITd &R

B. R T T w1

C. fehdT T I IO EX

D. 3fcerdT o1 T 9T T
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28.  According to Kohlberg’s Moral

29.

30.

Development Theory what should a
teacher do to inculcate moral value in
children?

A. There should be strict discipline in
the class

B. Moral issues should be discussed in
the class

C. Children should be given material to
read about moral and values

D. Children should be informed about
the rules of conduct

Which of the following statement is
very correct about development in
human being?

A. Development in human is a
qualitative change

B. Development in human is a
quantitative process

C. Development in Human is both
quantitative and qualitative process

D. Development in humanis a
psychological process

Ravi is good in studies but weak in
reading and understanding letters and
words, he has good mathematical
understanding. Ravi may suffer from
which of the following disorder?

A. Dyscalculia
B. Dysgraphia
C. Dyslexia

D. Dysphasia

28.

29.

30.

HIgeTsT o e forere o f&reard & TER
U fReTeh sht sl | Hfeeh Hed shl TTaAT
o ToTT RIT LT <AT(RW?

A. T HE IRIE T =11y
B. & | Afcre TEr sht < i A1iey

C. sl o fcrehell Tof e Heaiel wrlt
e il ot =R

D. d=al ol Y8R Heieft femt it SR
&t =

ST & S ° e 6 &, WIS o Torhre o6
ety § TTfee ST 87

A. T | ferehr Ueh ToTTerreh Sisharm 2|

B. AT H o Uk HTATeHe W5 2

C. wIea H T H Turteneh 371 HTTcH
CEIRIERILE

D. H § forehre weh wvasieR Sfha 2

ol UGTS | 3751 7, W] &R, Teal i
e, THE T AT 8, I T aHe
sr=at 2| e fferfaa # @ fore foapm @
T BT HehdT 82

A. Teashespiern

B. fewmfean

C. fexiforemn

D. feawfomm
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31.

32.

33.

34.

PART - 11
General Hindi

R15aT o Y[E3 ITANYT T [ofohT&l [T SITAT - 35.

e f3reqor
sraro f3Teqor

e fareqor
SYUh | § IS Tl

o w >

ereft afer o iaria 37 areft #hig Zad e 36.

T STFITST BT
A. sideer
B. 3d:shem
C. 3Ad:her
D. 3{dteRe

ST TR 7 e g9 SR e fa8w o 37.

e wes 3 31fRrer gaTeRT framd et 2,
I I T AT SHEATdT 22

A. GIh AR
B. ST AT
C. Tram
D

. W IS T

ST § I 2- 38.

A 3

B. 31

~

C. g

A

D. =fr

T =

¥THT el 2T A8 SH &Il 8-
A. ToREAT — G

B. ST —TgT

C. ST — g

D. - TeH

neet vTeg 1 wfYr foeme -
A. HE: + U

B. Tl + e

C. Her+ g

D. ug+ Uy

frafefiaa aort § & forg ot st S=wmor

hdleTsd U BIdT 27

A T
B. €%

C. Ty

D. 99

ATRITh o T 9T &-
A. 91
B. &
C. dm

D. t&
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39.

40.

41.

42.

43.

fFrefoifed o @ ey = b 9 12
EER

quw

TATTY

o0 W »

T%

7T femTer & fehetdt ® e & e -
A. T HTH

B. HYSH %l

C. 3MUEH

D. He¥ ek

TEE et T forroam et 2-
A, Sudr B. foarerfrar
C. a&g-Ed D. IR a+fl

grerfies TaT o faemeffar sl uerd g9 1
f&et v deieft fore et o gartfrens st 310

A. SR I
B. YT
C. ITST— =0T
D. SameRtire g

fehfer st @ ferereor 22

A. ffia seamaraes foemor
B. 3TqUTieh aTereh foreor

C. ufroraTess faemmor

D. TUMTETE T

44,

45.

46.

48.

forfr o aref 2-

A. ot forem i et

B. guiaTer &1 forfad &7
C. it

D. e fore =1 fafaa &0

oIE TSR, I el STTAT 9T, UG § ol 8- 36
TR B e 2-

A. TESETEH

B. frermamees

C. fmam=

D. Gdudr=eh

SITRI ST o STTEN S5 o o Wa 87
A &
C. dm

B. =R
D. HA18

. Frefafa qeve - doae sl 7 st

SIS EACPEEI I
A. frars — s
B. et — dhepoft
C. ®IaT—HBH
D. AT =UIh

TR o Tohel 3TTargereh ded |4 1T 27
A. 9=
B. #@ra
C. 8%
D. =R
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49.

50.

51.

52.

ffeARaa o | =4 | Hgeish o Brepior s
W el 2

A.

B
C
D

He e

[N

. ifereh See
. Tareqor ergve

. ST Ve

A feTRer sl o © SR SATRT T <o
s

T farferer

& AU i e

it 35 gt &

ERUENIES IR
ERRINICEIEREERY

. Y{H Y58 H G -

. U SEH I H fohe avE <t foRam et e

gATR?

A. faferaress fora
B. qEehTicTeh foRa
C. 3w fora
D

BEIER G2

. TS FeAT 9 TETAL AT 37 AT

oo faat g
EBELCIE Ll

3@ ¥ difgd g
. foct it sma sve

o0 w »
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PART - 111

General English

Read the following passage:

The Constitution of India
guarantees various rights to human
beings and majority of them are
Fundamental Rights. It also guarantees
many rights, particularly to the
prisoners. Prison jurisprudence
recognizes that prisoners should not lose
all their rights because of imprisonment.
Right to speedy trial is a fundamental
right of a prisoner. It ensures just, fair
and reasonable procedure. The fact that
a speedy trial is a public interest and it
does serve the social purpose. Itis in the
interest of all concerned that the guilt or
innocence of the accused is determined
as quickly as possible in any given
circumstance. On the other side,
Government and judiciary have to keep
watch and take immediate action against
immoral detrimental behaviour of the
prison authorities. There are several
factors chiefly overcrowded jails and
harsh treatment by the jail staff that
contribute to acute mental desperation.
In many cases, producing the prisoner in
the court, again and again, is another
source of harassment and humiliation.

Now answer the question nos. 56 to 62
based on the above passage.

56.

S7.

AT ST

Speedy trial is a “public interest’,
because-

A. ltensures just, fair and reasonable
procedure.

B. The guilt or innocence of the
accused is determined as quickly as
possible in any given circumstance.

C. Aiscorrect but B is incorrect.
D. Both A and B are correct.

There are several factors chiefly
overcrowded jails and harsh treatment
by the jail staff that contribute to acute
mental desperation.

The underlined word, here, means-

A. to help by providing money or
support, especially when other
people or conditions are also
helping

B. to be one of the reasons why
something happens

C. to give something, especially
money, in order to provide or
achieve something together with
other people

D. to add new plans or ideas, or help
make improvements to something
so that it becomes more valuable or
successful
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58.

59.

60.

Right to speedy trial is a fundamental
right of a prisoner.

State the tense of the given statement:-
A. Simple Present Tense

B. Present Perfect Tense

C. Present Progressive Tense

D

. Simple Future Tense

Prison jurisprudence recognizes that
prisoners should not lose all their rights
because of imprisonment.

The underlined word, here, means-

A. to know someone or something
because you have seen or heard him
or her or experienced it before

B. to accept that something is legal,
true, or important

C. to praise or reward someone for
what they have done

D. to show public appreciation for the
achievements of someone, or a
person or group

Which of the following is the source of
‘Right to Speedy Trial’?

A. Prison Jurisprudence

B. Public Interest

C. The Constitution of India

D. Government and Judiciary

61.

62.

The Constitution of India guarantees

various rights to human beings.

The passive form of the given statement

would be-

I) Various rights are guaranteed by
the Constitution of India to human
beings.

I1) Various rights have been
guaranteed by the Constitution of
India to human beings.

I11) Human beings have been
guaranteed various rights by the
Constitution of India.

A. Only I
B. Only i
C. Only Il
D. Alll, Iland Il

In the context of the given passage, read
the following consecutive sentences:-

I) The Constitution of India guarantees
various rights to human beings and
majority of them are Fundamental
Rights.

I1) It also guarantees many rights,
particularly to the prisoners.

There is a logical unity in both
sentences. Such logical unity is called-

A. Adhesion
B. Cohesion
C. Coherence

D. Structural unity
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Read the following passage:-

The youth should also direct
their mind towards social service and
see to the welfare of the people because
if they centre their interests only around
themselves, they will never be able to
build a healthy society. Their aim
should be to bring peace and tranquility
in the society keeping in mind that every
necessary step of development among
the different sections of people is being
taken care of. With other developments,
the society is also experiencing the birth
of various social evils. In fact, the
society is gradually losing its hold over
all its ethics and the essence of its purity
is fading among youth. Unfortunately,
the youth of today hardly seem to
realize the internal strength which lies
within them. In fact, they fail to
understand that it is on them that the
future of our nation depends and it is
only through their resolution and firm
determination that the whole scenario of
our nation can be changed. They are
rather guided by cynicism and it is this
cynical attitude towards the world and
everything which is associated with it
that is preventing them from working
towards a practical solution.

Now answer the question nos. 63 to 70
based on the above passage.

63.

64.

65.

66.

They are rather guided by cynicism and
it is this cynical attitude towards the
world and everything which is
associated with it that is preventing
them from working towards a practical
solution.

The tone of the underlined word in the
given line is-
A. negative
C. optimistic

B. positive
D. neutral

State the type of the given sentence-
“...if they centre their interests only
around themselves, they will never be
able to build a healthy society.”

A. Open Conditional

B. Closed Conditional

C. Hypothetical Conditional
D. Unfulfilled Conditional

In the opening line, “The youth should
also direct their mind towards social
service and see to the welfare of the
people...”, the tone of the author is-

A. Prescriptive

B. Directive

C. Indicative

D. Both (A) and (B)

Which of the following statements does

the author negate about the aim of

youth?

1) Social service

2) Welfare of the people

3) Their interests only around
themselves

4) To bring peace and tranquility in the
society.

A. Only1
C. Only3

B. Only 2
D. Both1land 2
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67.

68.

69.

Which of the following statements
show(s) the author’s anguish about the
youth in particular?

1) With other developments, the society
is also experiencing the birth of
various social evils.

2) In fact, the society is gradually
losing its hold over all its ethics.

3) The essence of its purity is fading
among youth.

4) The youth of today hardly seem to
realize the internal strength which
lies within them

All 1, 2,3and 4
Only 1 and 2
Only 3 and 4
Only 1,2 and 3

o0 w»

In this passage, ‘cynicism’ means-

A. the fact of using someone’s feelings
or emotions to your own advantage

B. the belief that people are only
interested in themselves and are not
sincere

C. aninclination to believe in the most
favorable outcome

D. suspicion or fear of future harm or
misfortune

Read the given sentence.

“...the youth of today hardly seem to
realize the internal strength which lies
within them.” State the function of the
underlined word in the sentence.

A. A negative adjective
B. A negative adverb
C. A positive adjective
D. A positive adverb

70.

71.

72.

In fact, the society is gradually losing
its hold over all its ethics and the
essence of its purity is fading among
youth.

By which of the following
phrases/words the underlined word can
be replaced in the given context without
changing the meaning and the context:-

A. slowly
B. unknowingly
C. conveniently

D. constantly

Which approach endorses ‘Fluency is
more important than accuracy’?

A. Grammar — Translation

B. Total Physical Response (TPR)
C. Functional Approach

D. Communicative Approach

The objective of remedial teaching is to
give additional help to pupils who, for
one reason or another, have fallen
behind the rest of the class in the
English language.

Because-

A. Some may have poor memory.

B. Some may have a poor level of
motivation.

C. Some may have a short span of
attention in work situations or
associated behavioural problems

D. All the above situations are possible
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73.

74.

75.

Read the given statements:- 76.

1) Peer correction involves learners
correcting each other’s mistakes.

2) Self-correction is when learners
correct their own mistakes.

3) Peer and self-correction help learners
to become independent of the
teacher and more aware of their own
learning needs.

4) Learners do not notice their mistakes
themselves and do not correct them.

1is incorrect
2 is incorrect
3 is incorrect
4 is incorrect

o0 w»

Ms. Jyoti is teaching the students in 7.

class — V.

Ms. Jyoti — ‘The cheetah is the fastest
land animal.” What is the part of speech
of the word ‘fastest’?

Meenu — Adjective

Sheelu — Adverb

Sonu — Noun

Monu — Verb

A. Meenu is right.
B. Sheelu is right.
C. Sonu is right.

D. Monu is right.

Sumit, a young learner, in his early days 78.

of learning, used to say, “I goed to
school.” Instead of “I went to school.”
This is an example of-

A. Slip

B. Fossilization

C. Developmental error
D. Interference

Read the dialogue between Ms. Nancy,
the teacher and Shweta, a student of
Class — .

Ms. Nancy — “What kind of animal is a
lion?”

Shweta — “Umm....”

Ms. Nancy — “It sounds like ‘child’.”
Shweta — “Wild.”

Ms. Nancy — “That’s right.”

In the given context, the underlined
sentence is an example of-

A. Encouraging
. Prompting

B
C. Getting learner’s attention
D. Modelling

In a language training session, the
trainer makes the following comment to
a learner:-

“In some ways, you gave an excellent
presentation but you’ll need to speak
more formally when you present it to all
the teachers.”

What aspect of speaking was he talking
about?

A. Fluency
B. Interaction
C. Accuracy
D. Appropriacy

A smartphone is a readily available
resource, if thoughtfully used, as a
language learning tool, because one can-
1) store offline dictionary

2) record your own voice and replay

3) access model audio material

Which of the following is true?

A. Only1 B. Only 2
C. Only3 D. All1,2and 3
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79. M. Raj is travelling from Raipur to
Ahmedabad. He is travelling by air for
the first time. Unfortunately, all the
display boards have crashed that day, so
the airport staff members are frequently
making announcements. Among all the
announcements, Mr. Raj is trying to get
the details about his flight.

So, Mr. Raj is -

A

Listening for gist

B. Listening for specific information
C.
D. Listening to infer the attitude of the

Listening for details

speaker

80.

Mr. Nitin brought some real texts, such
as menus, timetables, leaflets, etc. to the
class to teach the students the

vocabulary through real objects.

These ‘objects’ are called-

A

B
C.
D

Realia

. Flashcards

Charts

. Models

SPACE FOR ROUGH WORK / % &Td & fo1ar sire

20362-XJC-BHR-MM-E

20

Set - A



PART - IV

Mathematics wfora
81.  Due to 30% increase in the price of 81. ket Al WA | 30% 3hT IeE % R 7.80
banana, 3 banana less are available for 9 T 3 ol A 3UASY B el hT Ul i
Rs. 7.80. The present rate of banana per N
dozen is: ’
A. Rs.8.64 A. ¥.8.64
B. Rs. 8.88 B. ¥.8.88
C. Rs.9.36 C. ¥.9.36
D. Rs.10.40 D. ¥ 10.40
82. The value of 82.  0.008x0.01x0.0072+(0.12x0.0004)
0.008x0.01x 0.0072 + (0.12x 0.0004) FIAME:
1* A. 0012
A. 0.012
B. 0.12
B. 0.12
C. 1.02
C. 1.02
D. 1.2 D. 1.2
83. If a person walks at 14 km/hr instead of 83. af we =tk 10 fob.Hft./eeT o T W 14
10 km/hr he would have walked 20 km 1} mer F iy U Sear 2 a a9g 20 R
m(r)r]rtai.sThe actual distance travelled by ST <TorT 1 35 5T a9 1 TS STt
A. 50 km
A. 50 for .
B. 56 km B. 56 Rt
C. 70 km C 701%51ﬁ
D. 80km D. 80 f.r.
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84. Find the smallest fraction which when 84. gz g«w Il fy= 31 hifse 5@

2 15 7.3 2 15 7 3
added to —x—x-—x— gives a whole 2t 2 '
521710 8 X110 g e W O s
number. e Bt Rl
A2 A 23
40 0
B. 35 B. 35
40 10
C. 3—7 C. 37
40 ' 10
D. 31 D. 31
40 ' 20
85. |f the average of X,X+2,X+4,x+6 and 85. Jfd X, X+2,X+4,X+6 qAT X+8 &I
X +8 is 11 then the average of the last 37ad 11 2 ar 3ifam o= Jeron 61 ofied 2
three observations is:
A. 11
A 11
B. 13 B. 13
C. 15 C. 15
D. 17 D. 17
86. The average age of students of a class is 86. e HET o BHEI ohl G 3T 15.8 AV,
15.8 years. The average age of boys in HeTT T TTSoh] ShT 3T 37T 16.4 99 € 31T
the class is 16.4 years and that of the girl ot ' 5 > ‘
is 15.4 years. The ratio of the number of T ﬁ ik 15'4_0'&,%' wad
boys to the number of girls in the class STghi shi AT 1 TTgfehall 1§t &
is: FHT &
A 1:2 A 1:2
B. 2:3 B. 2:3
C. 3:4 C. 3:4
D. 3:5 D. 3:5
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87.

88.

89.

90.

The volume of two cubes are in the ratio
8 : 125. Then the ratio of their edges and
surface areas is:

A. 16:25
B. 9:25
C. 4:25
D. 36:25

If each side of a square is increased by
25%. Find the percentage change in its
area.

A. 56.25%
25%
C. 50%
D. 55%

o

If 3 men or 5 women can complete a
work in 43 days, how long will 5 men
and 6 women take to complete it?

A. 10 days
B. 12 days
C. 15days
D. 18 days

There are some cows and crows are in a
group. The number of legs is 14 more
than twice the number of heads. The
number of cows is:

A 5
B. 7
C. 10
D. 12

87.

88.

89.

90.

a1 BT % ST 3T 3191 8 ¢ 125 8
ST 9ISIT S HAE 6 & h1 ST &

A. 16:25
B. 9:25
C. 4:25
D. 36:25

Afe Teh ot ohl AT [SITaAl 7 25% T gfeg
L &1 ST AT 3Gk &%het H e Sfcrera st
gfez grft?

A. 56.25%
B. 25%

C. 50%

D. 55%

AfS 3 T8 A7 5 WieaTd Uk ol i 43 foAi |
T T T © AT 5 T8 3R 6 Afeand 36
e Tt 7 g it

A. 10

B. 12f

C. 15fa

D. 18fa

T 8 § S T SR il & qeT Oa 6t
T To ol € o &1 T | 14 AT 2
T 3 EET 2:

A s

B. 7

C. 10

D. 12
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91. A alone can complete a work in 16 days 91. A 3TohclT U M &l 16 faa # aur B

and B alone in 12 days. Starting with A 37T 3T 1 o7 12 T T s TahaT 21 A
they work on alternate days. The total ¥ IB3TTd L IS ST hi Uk fa Bt st
work will be completed in: T T e e ot &
A. 12 days A 2%
B. 13 days B, 3R
C. 135
132 days C. 13%%{
D. 3
137 days D. 13% g
92.  If the sum of two numbers is 55 and the 92. fg <1 AT T AT 55 B AT ITHT HedH
HCF and LCM of these numbers are 5 AUTIEdF I ST SHTISd ShHT: 5 31K
and_ 120 respectively then tr_]e. sum of the 120 2 &Y TeTTat 3 SR A &
reciprocals of the numbers is: 2
A. 55 A5
601 601
B. 601 B. 601
55 55
c. 11 c. 1
120 120
D. 120 D. 120
11 11
93. (O.@)x(7.§) is equal to: 93. (0.0_9)x(7.§) T W e &
A. 086 A. 0.6
B. 0657 B. 0657
C. 067 C. 067
D. 06571 D. 06571
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94.

95.

96.

97.

The difference between selling price of
an article at a profit of 4% and 6% is
Rs.3. The ratio of the selling price is:

A. 51:52

B. 52:53

C. 51:53

D. 52:55

If 10% of x =20% of y then X : y is
equal to:

A 1:2

B. 2:1

C. 5:1

D. 10:1

A man bought oranges at the rate of 8
for Rs. 34 and sold them at the rate of
12 for Rs. 57. How many oranges
should be sold to earn a profit of Rs. 45?

A. 90
B. 100
C. 135

D. 150

The cost price of 6 pens is equal to the
selling price of 4 pens. Find the profit
percent.

A. 25%
B. 60%
C. 50%
D. 80%

94.

95.

96.

97.

4% I 6% o AT T Tk a&q o6 forshdl g
o i<l T 3R 3 T 2, Torsha 9o 1
343}11?‘[%:

A. 51:52

B. 52:53

C. 51:53

D. 52:55

A x T 10%, y & 20% FsREL LT x 1 y
I

A 1:2
B. 2:1
C. 5:1
D. 10:1

Teh Afeh o 8 Tt 34 T il L A Tl bl
GiiaT 31 12 §a 57 9 i X ¥ o feam|
3G 45 TYY T AT FAH o o7 foha Tl
CEERI U

A. 90

B

C. 135
D. 150

6 U1 T 3 T 4 U1 o Torohd e 6
SR &, a1 7w wfaeTd J1d ity

A. 25%

60%

50%

80%

O 0w
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98. The sum of two numbers is 2490. If
6.5% of one number is equal to 8.5% of
the other, then the numbers are:

A
B.
C.
D.

99. A man travels first 160 km at 64 km/hr
and the next 160 km at 80 km/hr. The
average speed for the 320 km of the tour
is:

A
B.

C.

100. Which of the following are in
descending order of their value?

A

989, 1501

1011, 1479
1401, 1089
1411, 1079

35.55 km/hr
36 km/hr
71.11 km/hr

71 km/hr

98. 3T EEATSY T I 2490 7| IS Teh AT T
6.5% TH T 8.5% F T & Al
T 2

A

B
C.
D

989, 1501

. 1011, 1479

1401, 1089

. 1411, 1079

99. ueh =afth Tum 160 foh.HT. A1 gt 64
feop Y. /efaT e 3FTeT 160 fob.Hft. s gl 80
o+t /e Y 7T & o= ST B1 T 320
for.ft. T At Wﬁ%z

A

B.

C.

D.

35.55 for ot /eier
36 fop /e
ARBRCR: Wera)

ARER:iWral

100. faeferiad o & shiv STeiel she o 82

A

20362-XJC-BHR-MM-E
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101. If the length of the diagonal of a square 101. g wsh it o forenut it otars 20 THY. 2 T
is 20 cm. then its perimeter must be: gt uteT fafag 2
A 1042¢m A. 1042 @
B. 40cm B. 40&H
C. 40y2cm C. 4042 &,
D. 200 cm D. 200 &.Ht
102. ¢ \/2 =1.414 then the square root of 102. J2-1
o SIS
V2-1 is nearest to: V241
J2+1 ' foropeam AT 2
A. 0.172 A. 0.172
B. 0.414 B. 0414
C. 0.586 C. 0.586
D. 1414 D. 1414
103. At what rate percent per annum will a 103. 16 a¥ ¥ foraT ferre aTftes & & 15
sum of money double in 16 years? AITT ST B ST
A. glg
>3 % A. 5l
1
S 63% B. 61
C. 719
71% C. 719
D. glg
83% D. glos
104. i i i i 104.
'Iihelsldles of a triangle are in the ratio b : ﬁgwaﬁw ] % % %%
—:—:— and its perimeter is 156 cm.
2°3°4 P qeT afeTd 156 9. 21 Herlt St o[ ht
The length of the largest side is: REIERS
A. S4cm A. 549
B. 68cm B. 68¥H.
C. 72cm C. 729
D. 84cm D. 84¥H.
SPACE FOR ROUGH WORK / T @t & fora srire
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105. How many times in a day are the hands 105. weh ot o forerT ST =St <Al AT GhIor T

of a clock at right angle? Bt 22
A. 22 B. 24 A 22 B. 24
C. 44 D. 48 C. 44 D. 48
106. If a=0.1039 then the value of 106. & . 0.1039 Sdr Va2 _4a+1+3a
V422 —4a+1+3a is: S
A. 0.1039 A. 0.1039
B. 0.2078 B. 0.2078
C. 1.1039 C. 1.1039
D. 2.1039 D. 2.1039
107. A sum invested at 5% simple interest 107. wsk TI3T 3T 5% BT TS T 4 A
per annum grows to Rs. 504 in 4 years. o f933T A WX 504 ®93 Y19 B 2| Afe

The same amount at 10% simple interest

4 . _ 3G TMRTHN 10% AR IS W/ 24 i
per annum in 25 years will grow to: 2

for2r e e X foRat afes 2o
A. Rs. 420 A. . 420
B. Rs. 450 B. ®.450
C. Rs.525 C. & 525
D. Rs. 550 D. ®.550

108. The cost of paint is Rs. 36/kg. If 1 kg of 108. 9z it ANTd 36 9 Ufd foh.am. @ av 2.5 Hiex

paint covers 1.5m? how much will it VST Tt B o1 SITEL | e ot 7 TohaT Tl
cost to paint out side of a cube having A, Ffe 1 foram, 92 g 1.5 i gag &l Ue
2.5 m side? — 2

A. Rs. 700 A & 700

B. Rs.784 B. &.784

C. Rs. 884 C. ®. 884

D. Rs. 900 D. & 900
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109. How long does a train 110 meters long
running at the speed of 72 km/hr take to
cross a bridge 132 meters in length?

A. 9.8 sec.

B. 12.1 sec.
C. 12.42 sec.
D. 14.3 sec.

110. The LCM of two prime numbers x and y
(x>y) is 161. The value of (3y—x) is:

A -2
B. -1
C. 1
D. 2

109. 110 . <i<fi et 72 fF A A Hinla @
TAFT 132 HT sl T b TR A H fohar
AT AT 82

110.

A.
B. 12.1 9%
C.

D. 143 %&g

9.8 Uehe

12.42 ¥ehe

a1 TS TEITS x AATy (X > y) I
A gHTIEcd 161 814 (3y —X) HAM

e

A

B.
C.
D. 2

-2
-1
1
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PART -V

Environmental Studies TATERUT ST

111. Which of the following institutes of 111. v o fefafead 8 @S9 |1 g™

India plays a vital role in supporting the QITSUT STTSehdT ShtshA hT @qdT e &

environmental awareness programme? Wﬂﬁ ﬂﬁ?ﬁrﬁwé?

A. Zoological Survey of India A T F c\v& -

B. Botanical Survey of India N S S

C. Wildlife Institute of India e G

D. All of the above D. TR
112. Natural Gas is composed primarily of- 112. yrepfereh e e &9 9 ot &1l 2-

A. Methane A. e

B. n-butane B. -

C. n-octane C. T-3if@

D. A mixture of n-octane and n-butane D. TH-3ATaed aﬁ(q:r_aqg:rq;r&mm
113. Troposphere and Thermosphere belong 113. ZEhRR ST o iehRR Helferd 8-

to- .

A. Atmosphere A W

B. Lithosphere B. ¥cHed

C. Hydrosphere C. Sawed

D. Biosphere D. SiaHsa
114. Who wrote the Book — “Mind, Self and 114. urge, O e Hiamel geash e foreft

Society’? )

A. Humans A. 7

B. Gramsci B. UMHEA!

C. Mead C. #His

D. Giddens D. fidm
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115.

116.

117.

118.

Walkley and Black rapid Titration
method is used for the determination of:

A. Organic carbon content of soil
B. Nitrate content of soil
C. Phosphate content of soil

D. Fluoride content of soil

Which is the first social group of
humans?

A. Society

B. Community
C. Family

D. Neighbourhood

Who can declare an area to be
constituted as a National Park according
to Wild Life Act?

A. Supreme Court

B. High Court

C. State Government

D. Central Government

In E.V.S. a teacher takes students to a
Z00 to teach them about animals; This
activity comes under-

A. Project work

B. Assignment

C. Field visit

D. Experiment

115.

116.

117.

118.

et TR scieh (U 232y farfer st 3w
forer o frerfeor o ford fopam Smam 2-

. Tt Siforer el

. T amee

. THEt 1 wiEhe

LIRS IES

T ST oI TTHTISIE SHE i 91 22

YHTST

g O W >

HHSTT

O

iR
D. 39 - US™

I I ST AT o TR T &
TSR 3T o &9 T TS SN L Hehal 22

o w »

A. I AT
B. BEHIS

C. TSI EHR

D. F&T THR

3 o1 Ud. T Uk 3787 DT bl ST o oI

4 e & forg fafeamer o Sar g o8
wifaferfer foret 3 sfarta T -

A. afESHT HR
B. SANEElHT
C. AR
D. wam
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119. The tribe may be an example of-

A
B.
C.
D.

Family
Association
Community

Caste

120. Who laid the foundation of the ‘Nature
Study’?

A

121.

Rousseau

B. Louis Agassiz
C.
D. None of the above

Both A& B

Indian wolf has become an important

animal because:

A

122.

It’s name appears in Red Data
Book.

Wild Dogs disappeared due to their
presence.

It has been chosen as a state animal.

It is only an important member of
food chain of almost all Indian
forests.

Which of the following is a viral

disease?

A.

Diphtheria

B. Filariasis
C.
D. Influenza

Leprosy

119. ST SHhT ISTEL0T & HehelT B-

120.

121.

o o W >

A
B.
C
D

“Yehfer ST’ i fia Fore TG

. &
q5E S

. AR BT

. GTH U I T

IR ST Uk Hewaut STa o T &

FAiToh-

A

B.

122.

o o w >

SEEHT T (S STeT 3o H 37T 2
ST HISETT & STt el TR &1 1Y)
0 TS U o & § AT TR

I8 ST Tl T ST ol @
ST o1 shefel Ueh HewI {0 Heed 2

et & & o i formorstfora T 22
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123.

124.

125.

126.

Which one of the following is an
endoenzyme in soil?

A. Cellulase
B. Invertase
C. Protease
D. Dehydrogenase

Match List-1 & List-Il
List-1

a) World Health Day
b) World Population Day ii) 1% Dec.

List-11

¢) World Ozone Day iii)11" July
d) World AIDS Day iv) 7™ April
A. a-i, b-ii, c-iii, d-iv

B. a-iv, b-iii, c-i, d-ii

C. a-ii, b-iii, c-iv, d-i

D. a-iii, b-iv, c-ii, d-i

Water with B.O.D. level of ------- is
considered very good.

A. 1-2ppm

B. 2-3ppm

C. 3-5ppm

D. 4-6ppm

An earthquake is rated as ‘major’ if its
magnitude in Richter Scale is in the
range of-

A. 40-49
B. 50-59
C. 6.0-6.9
D. 7.0-79

i) 16" Sept.

123.

124.

125.

126.

o 3 @ =l i forgh o woh dEiisten &2

A. SRHE

B. FawH

C. g

D. feemgms

il 1 ST 11 o e -
g1 gefl-11

a) fTg@renfaa i) 16" Sept.

b) fagsmEw=rfeam i) 1% Dec.

¢) frgsramfam i) 110 July

d) foguegw feam iv) 7" April

A. a-i, b-ii, c-iii, d-iv
B. a-iv, b-iii, c-i, d-ii
C. a-ii, b-iii, c-v, d-i
D. a-iii, b-iv, c-ii, d-i

oft. 31, 2. TR - AT I T8 ST

ek WY T W@’ o &9 H {2 foRaT STt 8
e Tt Tt | gaehl cTorelt <ht &t Bt
z-

4.0-4.9

5.0-5.9

6.0-6.9

7.0-79

O 0o w >
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127. The Environment Protection Act of 127. 9Ra o qrteer geeqor rferfaee sy

India was enacted in- stferfratie forar =T 9T
A. May 1986 A. TS 1986
B. Nov. 1986 B. Tos 1986
C. June 1972 C. 71972
D. June 2012 D. SF2012
128. Why do all food chains start with 128. gt @rer e W & & i1 3% St 82
plants? A. it e s & g T

A. Because plants are easily grown.

B. ifeh ure difek BId 2

B. Because plants are nutritious.

C. Because plants can produces its own C. =ifeh et STt st T e H¢
energy. Hehd 2l
D. Because plants do not require D. i Gra] o1 St st STTavaehal Tet
energy. .
129. The process of separating cotton wool 129. ure o ST O €S T STAT A T kAT
from cotton seeds is- 2
A. Khnitting A. A
B. Shearing B. @awil
C. Spinning C. &dls
D. Ginning D. e
130. A hazardous waste is characterised by- 130. e SYufyrs i forwrar 2-
A. Toxicity A. fourear
B. Reactivity B. SfceRrr
C. Ignitibility C. SS9t
D. Wt

D. All of the above
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131.

132.

133.

PART - VI

Computer Related
General Knowledge

Which of the following has the smallest
storage capacity?

A. Zip disk

B. Hard disk

C. Floppy disk

D

. Data cartridge

A computer program that copies itself to
other computers across the internet is
called ---------

A. Computer Virus

w

Worms

O

Program Virus

o

Trojan Horses

Which of the following groups are only

input devices?

A. Mouse, Keyboard, Scanner,
Joystick, Light pen

B. Mouse, Keyboard, Printer, Light
pen

C. Mouse, Keyboard, Monitor,
Joystick

D. Both (B) and (C)

131.

132.

133.

I et aHT [
fafafaa 4 @ forgehi v e aed
T Bt 87
A. 59 fe=n
B. =e feen
C. vt few=h
D. St
Ueh ST ST S G i 2 T3

Frreferfad & & i & 9 o $TIE
feamew &2

A. T13E, Fl-aE, T, Sk, Ase U
B. #r=4, Fr-are, fiey, dge v

C. H3H, hHI-aTE, HHIeT, ek

D. (B) 3R (C) gl
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134, ..

----- are equations that perform

calculations on values in your Excel
Worksheet.

A
B.
C.
D.

Functions
References
Formulas

Constants

135. Which google product allows you to
survey, quiz or question students with
multiple choice, open-ended and other
questions?

A

B
C.
D

Google Drawings

. Google Slides

Google Forms

. Google Docs

136. What is the full form of ISP?

A
B.
C.
D.

Internet Service Provider
Interface Service Parameter
Internet Service Parameter

Internet Service Processing

137. Full form of “CD” is-

Character Disk
Copper Disk
Compact Disk

None of these

134, IE GHIHIOT © ST AT T
(MS-Excel) 31 T T 9% TUMT hd 2

A

B.

C
D.

I

135. =9 |1 T IeUTE HATIh! AIhed 1,
IIT-USE 37T 37T AT hl DTAT hT HALT,
ST AT 551 51 T /T 82

A

B
C.
D

C\A.

. T TATESH

. TS S

136. ISP T Ut &9 T &2

A
B.
C.
D.

Internet Service Provider
Interface Service Parameter
Internet Service Parameter

Internet Service Processing

137. «CD” (€1.2.) o1 0 A 2-

A

B.

C

D

. S feeh
I feen

. wr feeh
. 3TH W S AR
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138. Which Printer is widely used in Fax
machine?

A.

B
C.
D

Dot Matrix Printer

. Laserjet Printer

Daisy Wheel Printer

. Thermal Printer

139. Which one of the following is not a
function of Operating System?

A

B
C.
D

Booting

. Disk Management

Process Management

. Data Classification

140. Choose odd option.

A

tiff

B. jpeg
C.
D. gif

mpeg

138. ey w3fia § i @ 3ot samdeh ¥ § S9IT
foparT ST 22

<fe ffgaw fie
. IR e
st 81 e
o fifex

oo ® »

139. {7 o § whiS ek ST forem ot o
T &2

A afem
B. fe& s
C. g AAste
D. 32T FATEftheh

140. oo forshe b1 =41
tiff

jpeg

mpeg

o w>»
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141.

142.

143.

144.

145.

PART - VII

General Knowledge

Who is called the lamp of Sal forests?
A. Bastar Region

B. Surguja Region

C. Bilaspur Region

D. Durg Region

The Indian Army has leased four Heron

Unmanned Aerial Vehicles (UAVS)
from which country?

A. USA
C. France

B. Israel
D. Japan

INDRA 2021 is a joint military exercise
between India and which country?

A. USA B. UK

C. Japan D. Russia

Who is the Father of the Indian Space
Program?

A. C.V.Raman

B. Vikram Sarabhai
C. M.G.K. Menon

D. A.P.J. Abdul Kalam

Sitanadi Wildlife Sanctuary is in which
state?

A. Bihar

B. Jharkhand

C. Chhattisgarh

D. None of the above

141.

142.

143.

144.

145.

AT AT

|1 a1 T <19 Fohdl haT SITar 82

T &

HTSIT &

ESIGRIEAE]

gt &t

WL BT 7 fore 37 & =1 209 A Ued
TS Te (FUSH) Tg T e &2

A. TG B. SSRIEA

C. ®H D. S

o w >

$81 2021 WA 3R foh8 <31 o STl Tk 6k
&1 1 2

A. TR

C. SmHH

5.

D. 8

T SHATeT HTIshT o ST i 87
A, © e
B. forshy |
C. . St & o

D. T .S, 37sged HAH

HraTd =1 Sfta STy fohg g § 82
A. foEr

B. #r@UE

C. IR

D. & & &IS Tl
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146.

147.

148.

149.

150.

Who first conceived the idea of
Chhattisgarh state?

A. Pandit Sundarlal Sharma
B. Dr. Khubchand Baghel

C. Pandit Ravishankar Shukla
D. None of the above

When was the First Rocket launched
from India?

A. 21 December 1963
B. 21 October 1963

C. 21 November 1964
D. 21 November 1963

Which of the following is called Kashi
of Chhattisgarh?

A. Rajim

B. Kharod
C. Mainpat
D. Bhoramdev

What was the old name of Chhattisgarh?
A. Kosal

B. South Kosal

C. North Kosal

D. None of the above

In what percentage of Chhattisgarh is
the expansion of the Gondwana rock
group?

A 17%
B. 20%
C. 28%
D. 27%

146.

147.

148.

149.

150.

BAIERTE TS hT T e T foree & off?
A, dfeq getarer i

B. <. Yeeg oA

C. dfed teriert gt

D. T & IS T

VR O GSAT Uohe hel Tl TRl 1T T2
A. 21 fedst 1963

B. 21 31T 1963
C. 21 7Fde 1964
D. 21 s 1963

TG o1 et e hed 87
A TS
B. &g
C. #ure
D. JHed

SAETG T GLHT T T AT?

A. HEA

B. aferr wiger

C. SWHITA

D. &9 &g el

i eTTe o foha SfTd T & Tigem T 9
g T foream 22

A. 17%

B. 20%
C. 28%
D. 27%
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SET-A

I 3ifeha A /T AR 3Ee AR 31h : 150
Time for making answers : 3 Hours Maximum Marks : 150
e
1. 38T fkaent § e s gnt -

@) mm@ﬁmm 30 3k

(i) T = 25 3ieh

(iii) O S 25 3ih

(iv) Tfora 30 3tk

(v) Uaieror s 20 3tk

(vi) P Hafelt AT A 10 3R

(vii) HHTT A 10 3k

e 27 1 31k T8 | T 150 T i A 2 |

T4t o IR, 21 T8 OMR I (SATEEie) W sifera i |

a7 3ifehd hEn U 1, 3ieh sh1e SR |

Toreft off T8 o FeTEHeIer AT AN e U WIATSE i T SR S £ |

OMR 3T¥E (3TTETTAE) T TTNT hid THT VHT g METTUTHT T hi/ald ™o I8 we I ar
3ad uig a1 faerae onfe ug 9 e wetasu g T e a e |

A N

Note :

1. This Question Paper consists of following Parts namely :-

(1)  Child Development and Pedagogy 30 Marks
(i)  General Hindi 25 Marks
(iii)  General English 25 Marks
(iv) Mathematics 30 Marks
(v)  Environmental Studies 20 Marks
(vi) Computer Related General Knowledge 10 Marks
(vii) General Knowledge 10 Marks

Each question carries 1 mark. All 150 questions are compulsory.

Indicate your answers on the OMR Answer-Sheet provided.

Ya mark will be deducted for each wrong Answer.

Use of any type of calculator or log table and mobile phone is prohibited.

While using Answer-Sheet care should be taken so that the Answer-Sheet does not get torn or
spoiled due to folds and wrinkles.
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